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Jl2gdd(=2 ) 10,500 10,500 0
202 (44l 10,500 10,500 0
01 SLHAObI 10,500 10,500 0
O=WHbI 10,500
Jl2ZH(LERE) 15,000 15,000 0
202 (4l 15,000 15,000 0
01 2L A 9,000 9,000 0
O=WHHHI 9,000
02 A0l 6,000 6,000 0
O AHoibl(JISH) 6,000
HRES (M HerE ) 839,800 3,510,000 A2,670,200
LHEHCHXI & 101,000 100,000 1,000
Mg2eldls 853 101,000 100,000 1,000
R2J1=8E= 101,000 100,000 1,000
o1 JISdES 101,000 100,000 1,000
S} EEEIBER-EE 101,000
28X E 738,800 3,410,000 A2,671,200
EHE L=+ ez o4& 738,800 3,410,000 A2,671,200
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